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As you are now an A-level geography students, it is important that you quickly become familiar with the type of question that you will be expected to answer.  Some of these question types will be similar to GCSE level however your expected response will not be the same as you will be required to write in greater depth and breadth than you have done previously.
Your task is to define the following command words.  You’ll find page 6 of this document useful but no copying and pasting please!  All work must be in your own words. https://qualifications.pearson.com/content/dam/pdf/A%20Level/Geography/2016/teaching-and-learning-materials/Assessment-Guide-for-A%20level-Geography-Paper-1-and-Paper-2.pdf
	Command

word
	Meaning
	Possible marks

	Assess
	
	12

	Draw/plot
	
	4

	Calculate
	
	4

	Explain
	
	3, 4, 6 or 8

	Describe
	
	2 or 3

	Analyse (paper 3 only)
	
	8 

	Evaluate
	
	18, 20 or 24 

	Suggest
	
	3 or 6


Command words by level of complexity

As you will have seen from task 1, command words vary in their level of difficulty and the amount of thinking they require prior to answering.  The table below contains examples of how questions of differing complexity may be worded.

	AO1- Knowledge and understanding of places, environments, concepts, processes, interactions and change at a variety of scales.
	AO2 – Application of knowledge and understanding in different contexts to interpret, analyse and evaluate geographical information and issues.

	AO3 – Use a variety of relevant quantitative, qualitative and fieldwork skills to investigate geographical questions and issues, interpret, analyse and evaluate data and evidence and construct arguments and draw conclusion.


	Describe

Explain why/how

Suggest why/how


	Suggest why/how

Evaluate

Assess

Explain why/how


	Analyse

Calculate

Draw/plot
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Dynamic Places – unit 1 – Globalisation

Unit 1 overview:
Globalisation and global interdependence continue to accelerate, resulting in changing opportunities for businesses and people. Inequalities are caused within and between countries as shifts in patterns of wealth occur. Cultural impacts on the identity of communities increase as flows of ideas, people and goods take place. Recognising that both tensions in communities and pressures on environments are likely, will help players implement sustainable solutions.
Glossary of key terms – important terminology that you will be expected to be familiar with and comfortable in using in both your verbal and written communication around this topic.  You will use this document as a reference point for future learning therefore it must be filed appropriately in your folder.

A) You must formulate definitions for the key terms in the table below.  This does not mean merely copy and paste the first item you find on Google (other search engines are available).  You must research each term and cross reference your findings to make sure you have a comprehensive definition that you can understand.  All definitions must be in your own words.
B) Once your definitions are complete, create your own key and colour code terms that are connected through the same sub-topics e.g. trading blocs, measures of globalisation, indicators of economic development.
	Key term
	Definition

	ANZUS
	

	ASEAN
	

	AT Kearney Index
	

	Biodiversity
	

	Capital
	

	Censorship
	

	Commodities
	

	Composite measure of development
	

	Consumerism
	

	Containerisation
	

	Corruption Perception Index (CPI)
	

	Cultural diffusion
	

	Cultural erosion
	

	Deindustrialisation
	

	Deprivation
	

	Deregulation of financial markets
	

	Diaspora
	

	Ecological footprint
	

	Economic inequality
	

	Economic migrant
	

	Elite migration
	

	Emerging economy
	

	Flow
	

	Foreign Direct Investment (FDI)
	

	Free market liberalisation
	

	GDP
	

	GDP per capita
	

	Gender Inequality Index (GII)
	

	Gini coefficient
	

	Global economic centre of gravity
	

	Global hub
	

	Global shift of manufacturing
	

	Glocalisation
	

	GNI
	

	Happy Planet Index (HPI)
	

	Homogenisation
	

	Human Development Index (HDI)
	

	Infrastructure
	

	Interdependence
	

	Internal migration
	

	International migration
	

	Jet air craft
	

	KOF Index
	

	Land degradation
	

	Lorenz Curve
	

	Megacity
	

	MERCOSUR
	

	NAFTA
	

	NATO
	

	Network
	

	NGO
	

	OECD
	

	Offshoring
	

	OPEC
	

	Outsourcing
	

	Privatisation
	

	Purchasing Power Parity (PPP)
	

	Quota
	

	Rural-urban migration
	

	Russian Oligarch
	

	Shrinking world
	

	Single measure of development
	

	Spearman’s Rank
	

	Special Economic Zones (SEZs)
	

	Subsidy
	

	Supply chain
	

	Tariff
	

	The EU
	

	The IMF
	

	The World Bank
	

	The WTO
	

	Time-space compression
	

	Tourist
	

	Trading bloc
	

	Transition town
	

	Urbanisation
	

	Westernisation
	


 
The Economist explains

Why have containers boosted trade so much? May 21st 2013, 23:50 by E.H.


AT FIRST glance they may just appear to be humble metal boxes. But containers— uniform boxes that can be easily moved between lorry, train and ship—have reshaped global trade over the past few decades. Why have containers boosted trade so much?

Uniform metal containers were invented by Malcom McLean, an American trucking magnate, in 1956. Before then goods were shipped as they had been for centuries.

Crammed in to the hold of a ship, loose cargo in wooden crates would be loaded and unloaded by vast crews of dockworkers. The process was unwieldy, unreliable and so slow that ships often spent longer docked than they did at sea. Theft of transported goods was rampant: as an old joke put it, dock workers used to earn “$20 a day and all the Scotch you could carry home.”

Containers changed this in several ways. The price of everything fell, starting with the cost of loading and unloading. When Mr McLean looked at the costs of his first container ship, he found that it cost $0.16 per tonne to load compared with $5.83 per tonne for loose cargo. Between 1965 and 1970 the amount of money locked up per tonne of inventory in transit between Hamburg to Sydney fell by half. Because containers were packed and sealed at the factory, losses to theft plummeted, which in turn drastically reduced insurance costs. More could also be loaded: in 1965 dock labour could move  only 1.7 tonnes per hour onto a cargo ship; five years later they could load 30 tonnes in an hour. As a consequence, ships could get bigger and more efficient while still spending less time in port. As containers made inland distribution by train and lorry easier, ports became bigger and fewer in number. (In 1965 there were 11 loading ports in Europe; by
1970 there were three.) This, along with increased productivity, meant fewer dockworkers were needed, undermining their bargaining power and reducing the number of strikes.

For many years it was thought to be impossible to quantify the value of containerisation, because the advent of the metal box coincided with a global reduction in trade barriers as a result of European integration and the work of the General Agreement on Tariffs and Trade (GATT), the predecessor of the World Trade Organisation (WTO). But a paper published in February cleverly disentangles the impact of trade deals from that of containers. Looking at 22 industrialised countries, it finds that containerisation is associated with a 320% increase in bilateral trade over the first five years and 790% over 20 years. A bilateral free-trade agreement, by contrast, boosts trade by 45% over 20 years, and membership of GATT raises it by 285%. In other words, containers have boosted globalisation more than all trade agreements in the past 50 years put together.

Not bad for a simple box.


Try these techniques to make your reading active:

· Underline or highlight key words and phrases as you read. When you return to it later on, you can easily see which points you identified as important. Be selective - too much highlighting won't help.

· Make annotations in the margin to summarise points, raise questions, challenge what you've read, jot down examples and so on. You can do this in printed books or etexts. This takes more thought than highlighting, so you'll probably remember the content better. (Use sticky notes if you don't want to mark the text.)

· Read critically by asking questions of the text. Who wrote it? When? Who is the intended audience? Does it link with other material you've studied in the module? Why do you think it was written? Is it an excerpt from a longer piece of text?

· Test yourself by reading for half an hour, putting the text away and jotting down the key points from memory. Go back to the text to fill in gaps.

· Look for 'signposts' that help you understand the text - phrases like 'most importantly', 'in contrast', 'on the other hand'.

· Explain what you've read to someone else.

	
	Good
	Not sure
	Bad
	Explanation of why I think this…

	The world’s rich tend to employ

the world’s poor.
	
	
	
	

	Transnational Companies are more powerful than national

governments
	
	
	
	

	New e-and i-services are available, e.g. Facebook/ i-

Tunes
	
	
	
	

	Capitalism has spread into

former communist countries
	
	
	
	

	Free markets have spread
	
	
	
	

	National industries must compete with Transnational

Corporations
	
	
	
	

	Unions protect workers from

exploitation
	
	
	
	

	Most investment in many countries is FDI – i.e. foreign

TNCs
	
	
	
	

	Fair Trade has mobilised against

global food corporations
	
	
	
	

	1m people a year left Europe

after 1900
	
	
	
	

	Submarine cables mean

financial transactions occur faster than clicking a mouse
	
	
	
	

	Governments are more

cautious about immigration
	
	
	
	

	Domestic football teams can be

made up of foreign talent
	
	
	
	

	Migrant workers can have more than 1 vote in the EU
	
	
	
	


Extract from the specification - what you need to learn:

TNCs are important in globalisation both contributing to its spread (global production networks, glocalisation and the development of new markets) and taking advantage of economic liberalisation (out-sourcing and offshoring.)

You must:

Investigate the role of TNCs and their global significance, using a suitable case study of one TNC.  You may present this information how you wish but you must outline your response to at least Q’s 1-6 that follow:

Your task is to investigate the global operations of a large TNC. The aim is to research the structure and significance of a global TNC. You will need to think about the following areas:

1. Organisation – where is HQ?  Is this the same location as production?

2. Core business – what do they do?  Give examples of specific products/services offered.

3. What is the pattern of global production? Where does the TNC operate its production and manufacturing?  Describe the distribution of this (or even locate on a map).

4. Is there a spatial division of labour i.e. offshoring of production? Or does design to manufacture take place in the same location?

5. How has the company grown? Has the country simply created a replica business in other locations e.g. a Tesco store in China is much like a Tesco store in the UK, or has the country grown through mergers and acquisitions (growth through joining together with other companies/buying the competition to increase market share)?

6. Does the company outsource manufacture (other companies to produce their products under contract)? Most fashion retailers use this model e.g. Nike and Adidas.

7. CHALLENGE: Is there any evidence of companies accessing the advantages of economic liberalisation (e.g. the use of trade blocs, FDI.)

8. CHALLENGE: Is there any evidence that the company is spreading its influence through glocalisation by developing products that reflect local tastes and customs e.g. Marvel comics.

The following links may be useful:
Tesco:
http://www.tescocorporate.com/ 
General Motors
http://www.gm.com/corporate/ Ford

http://www.ford.com/
Disney
http://corporate.disney.go.com/
Nike
http://www.nikebiz.com/
TASK 1: Command words and their meanings





TASK 2: Edexcel Geography A-level: human geography





TASK 3: active reading task – actively read the information and answer the questions that follow





In the space below, summarise the main benefits that containerisation has brought for trade.  You must use PEE and specific facts in your answer.
























































Use PEE to explain how you think containerisation has contributed to globalisation:





TASK 3 gUIDANCE





TASK 4: is Globalisation Good or Bad? Globalisation has brought about a myriad of positive and negative impacts that unfortunately are often unequal.  Read each statement in turn and show your opinion by placing a tick in the good/not sure/bad box.  Then explain your answer using PEE.








     Task 5 - How have TNCs contributed to globalisation?





Case study of ONE large trans-national corporation


You task is to investigate one large global TNC in some detail. Suggested TNCs: Tesco, Shell, Disney, Ford, General Motors, Ikea, Marvel Entertainment, McDonald’s, Nike, Gap, Coca-Cola, Starbucks, Burger King.








